
WWW.INFORMATION-DENTAIRE.FR	

	
	
	
	
Réponse	à	l’exercice	1	
	
Figure	2.	

• 3	coups	de	gâchette	dans	une	zone	postérieure	
• 2	coups	dans	zone	antérieure	
• 3	coups	dans	zone	postérieure	opposée,	le	tout	en	maintenant	l’embout	dans	le	

silicone	extrudé	
	
Figure	4	

• Pour	une	piézo	extemporanée	:	(ME-TE)	3	fois,	puis	TE-DE	jusqu’à	la	prise	
	
Figures	5-6-7	:		

• Modiolus	marqué	par	une	concavité	
• Couloir	triangulaire	
• «	Orbiculaire	»	concave	
• Poche	de	Fish	convexe	
• Repose-langue	

	
Figure	8	

• Couloir	prothétique	triangulaire,	prothèse	trop	large	et	ronde	
	
Figure	9	

• Plan	occlusal	trop	bas	et	montage	antérieur	trop	peu	concave	


